[ > restart;
> ode := diff(y(t),t)=0.1*(sin(t)+y(t)"2);

ode ::gy(t) = .1sin(t) +.1y(t)?

> solumum := dsolve( {ode}, y(t), type=series);

Imm._ t) = O i OZt (i i O3jt2 (i O _1 O4jt3
solumum :=y(t) = y( )+10y( ) t+ 20+100y( ) |+ 300y( )+1000y( ) U+
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£ +0(t%)
> soll := dsolve( {ode, y(0)=1.0}, y(t), type=series);

1 3, 13 , 713 , s 6
soll:=y(t)=1+_—-t+—t°+ t— t - t+ O(t)
| 10 50 3000 20000 300000
[ > sol2:=rhs(soll);
1 1 1 251
sol2:=1+_—t+ £ + £+ t* + £+ O(t°)
10 100 1000 10000 100000

> sol3:=convert(sol2,polynom);

1 1, 1 , 251 , 101 .
sol3:=1+_—t+ t°+ t+ t+ t
10 100 1000 10000 100000
[ > soll := dsolve( {ode, y(0)=1.0}, y(t));

3/2
soll :=y(t)=- t( )
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S > plot({sol3,rhs(soll)},t=-2..4.5);
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> sysl := {difF(X(L), 1) =x(O)+y(D)+t, diff(y(1),t) =
z(t),diff(z(t) ,t)=x()-t};
5 5 5
sysl := {a z(t) = x(t) —t, a x(t) =x(t) +y(t) +1t, ay(t) =z(t)}

S dsolve(sysl union {x(0)=0,y(0)=1,z(0)=-1}, {xX(v),y(t),z(v)},
type=series);

1y 1, 15 6 1o, 15 1,4 15 6
{z(t)= -1+-tC+_—t'+ C+O(0), x(t)=t+-t"+ -0+t + "+ 0O(t"),
6 24 120 2 6 24 60

y(t)=1—t+it4+it5+0(t6)}
24 120




[ > oded:=diff(y(xX),x,x)-diff(y(x) ,x)+x*y(x)"2=0;
i 0 )
| oded = 5;y&)——g;ﬂx)+xy&):0
[ > dsolve({ode4, y(0)=1, D(y)(0)=-1},y(x),type=series);
1, 1

yU):l—x—lﬁ——x4=—x5r£x5+ou%
2 3 12 60




